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LIST OF TYPOGRAPHIC ERRORS

Equation (19) should be

S int = nkB

( E

kBT int
− log

1

Z int

)
. (19)

Equation (20) should be

Gtr = kBT
tr log

n

Ztr
, Gint = kBT

int log
1

Z int
, (20)

Equation (22) should be

dS =
nctr

T tr
dT tr +

ncint

T int
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(3
2
kB +

E

T int
− kB log

n
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)
dn, (22)

Equation (23) should be

∂tS+∇·(vS)+∇·
(Qtr

T tr
+
Qint
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)
= −

Qtr·∇T tr

T tr2
−
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Equation (41) should be

J̃ sl,(0) = −
1

2n2[[(∆E)2ζ ]]

∑

j,i′,j′

∫
f (0)f̃ (0)(∆E)ζgσiji

′
j
′

dc̃ de′, (41)

Equation (76) should be

ψη =
m

kBT

(
(c− v)⊗(c− v)− 1

3
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)
, (76)

Equation (77) should be
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=
(
5
2
kBT − 1

2
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−Erap

i

)
(c− v), (77)

Equation (81) should be

J̃ sl,(0) = −
1

2n2[[(∆Esl)2ζ sl]]
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∫
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Equation (104) should be

p̃rel = −
(kBT )

3crap

p(ctr + crap)2
crap[[(∆Esl)2ζ sl]] + (ctr + crap)[[(∆Erap)(∆Esl)ζ sl]]
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. (104)

Equation (106) should be
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crap[[(∆Esl)2ζ sl]] + (ctr + crap)[[(∆Erap)(∆Esl)ζ sl]]
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, (106)

Equation (107) should be

〈〈f (0)φ0010,Wsl〉〉 = −
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(
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,

(107)

Equation (108) should be

〈〈f (0)φ0001rap,Wsl〉〉 =
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kBT

(
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Equation (110) should be

〈〈f (0)φ0010,Wsl〉〉 ≈ −
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kBT
[[(∆Esl)(∆Esl +∆Erap)ζ sl]], (110)

Equation (111) should be
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Equation (117) should be
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The second line of Equation (121) should be
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so that the resulting volume viscosity reads
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